Resource Market – Maximum Combo of Labor and Capital

Suppose the productivity of capital and labor in the Hula Hoop market are shown in the accompanying table.  The Hula Hoops sell in a competitive market for $10 per unit.

Labor (Cost = $20)







Capital (Cost = $100)
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A.
What is the profit-maximizing combination of labor and capital the firm should use?  Explain.

B.
What is the resulting level of output?  What is the economic profit?

C. 
Suppose demand for Hula Hoops decrease due to a change in consumer tastes which lowers the price to $5.  Calculate the 
new MRP1  for labor and capital.  What is the new profit-maximizing combination?
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